ADDING AND SUBTRACTING UP TO 1000 WITH CARRYING (H - SET Name'

CHALLENGE

Time: Seore: |
w0 2025 + 4871 = ) 3183 4 6502 =
w2 5248 + 3650 = 2 8713 — 5401 =
w3 7441 + 355 = 75 5416 + 353 =
o) 1929 — 225 = 3567 + 3111 =
w5 2773 — 2341 = ) 8613 4+ 1110 =
w6 4008 4 2861 = o6 2557 — 2530 =
wn 2997 — 1803 = o 8673 — 1332 =
o8 7677 — 1622 = o) 7539 — 4307 =
69 3579 — 1505 = o) 2418 4 3540 =
0 8608 — 3 = w0 3087 — 3031 =

Mathematics: Mixed - Level 6 - Horizontal - Set 1

35


https://www.workulum.com

